# ON THE DWORK TRACE FORMULA 

Alan Adolphson


#### Abstract

We prove a generalization of Dwork's trace formula for certain completely continuous operators on $p$-adic Banach spaces. This generalization makes it simpler to apply Dwork's theory to the study of certain exponential sums involving both additive and multiplicative characters. As an example, we treat the case of Gauss sums and give a new proof of the Gross-Koblitz formula.


0. Introduction. The Dwork Trace Formula is a basic tool for applying the techniques of $p$-adic analysis to the study of exponential sums with an additive character. Let $p$ be a prime and let $\mathbf{F}_{q}$ be a finite field with $q=p^{f}$ elements. Let $\Psi: \mathbf{F}_{q} \rightarrow \mathbf{C}^{x}$ be an additive character. For $f \in \mathbf{F}_{q}\left[x_{1}, \ldots, x_{n}\right]$, define an exponential sum

$$
\begin{equation*}
S(f)=\sum_{x_{1}, \ldots, x_{n} \in \mathbf{F}_{q}} \Psi\left(f\left(x_{1}, \ldots, x_{n}\right)\right) . \tag{0.1}
\end{equation*}
$$

Bombieri [1] has used the Dwork Trace Formula to study such exponential sums and their associated $L$-functions. The purpose of this article is to prove a generalization of the Dwork Trace Formula (Theorem 1) which will allow one to treat in a straightforward manner sums of the form

$$
\begin{equation*}
\sum_{x_{1}, \ldots, x_{n} \in \mathbf{F}_{q}} \chi_{1}\left(x_{1}\right) \cdots \chi_{n}\left(x_{n}\right) \Psi\left(f\left(x_{1}, \ldots, x_{n}\right)\right), \tag{0.2}
\end{equation*}
$$

where $\chi_{1}, \ldots, \chi_{n}: \mathbf{F}_{q}^{x} \rightarrow \mathbf{C}^{x}$ are multiplicative characters. Such sums can be handled by the earlier trace formula at the expense of certain technical complications, i.e., change of variable in the polynomial $f$, which results in changes in the Frobenius operator and the differential operators with which Frobenius commutes (see for example [4, eqs. (6.47), (6.48), and (6.49)]). Our point here is that by enlarging the space on which Frobenius operates, one obtains the sums ( 0.1 ) and (0.2) from the same Frobenius operator, hence the commuting differential operators are unchanged also. This enables one to apply the other elements of Dwork's theory more directly.

As an example, in §2 we give another proof of the Gross-Koblitz formula. We follow the ideas of [2], although we simplify by avoiding any appeal to the dual theory. We hope that the ideas of this paper will lead to
an interpretation of the Gauss sum relations of [2, §8, Remark 2] in terms of Dwork cohomology.

We use the standard notation for binomial-type coefficients: for $n$ a non-negative integer,

$$
\begin{aligned}
& (z)_{n}= \begin{cases}z(z+1) \cdots(z+n-1) & \text { if } n>0 \\
1 & \text { if } n=0\end{cases} \\
& \binom{z}{n}= \begin{cases}z(z-1) \cdots(z-n+1) / n! & \text { if } n>0 \\
1 & \text { if } n=0\end{cases}
\end{aligned}
$$

We denote by $\mathbf{C}_{p}$ a completion of an algebraic closure of the $p$-adic numbers $\mathbf{Q}_{p}$.

1. Trace formula. Let $p$ be a prime and $d$ a positive integer with $(p, d)=1$. Let $\mathbf{Q}_{p}$ denote the $p$-adic numbers and let $K$ be a discretelyvalued extension field of $\mathbf{Q}_{p}$. We assume the valuation on $K$ normalized so that ord $p=1$, and we let $|\mid$ denote the corresponding absolute value. In this section we shall use multi-index notation: $i=\left(i_{1}, \ldots, i_{m}\right)$ and $j=$ $\left(j_{1}, \ldots, j_{n}\right)$ are sequences of non-negative integers, and

$$
x^{i / d} y^{j}=x_{1}^{i_{1} / d} \cdots x_{m}^{l_{m} / d} y_{1}^{j_{1}} \cdots y_{n}^{u_{n}}
$$

Let $\beta \in K$ and put $b=\operatorname{ord} \beta \in \mathbf{R}$. Let $L(b ; d)$ denote the set of all formal series

$$
\begin{equation*}
\eta=\sum_{i, j>0} a(i, j) x^{i / d} y^{j} \tag{1.1}
\end{equation*}
$$

where $a(i, j) \in K$ satisfy

$$
\begin{equation*}
\text { ord } a(i, j)-b\left(\left(i_{1}+\cdots+i_{m}\right) / d+j_{1}+\cdots+j_{n}\right) \geq c \tag{1.2}
\end{equation*}
$$

for some $c \in \mathbf{R}$ and all $i, j \geq 0$. We are treating $x^{i / d}$ as a formal expression only and hence do not regard $\eta$ as a function. The vector space $L(b ; d)$ is made into a Banach space by the following norm:

$$
\begin{equation*}
|\eta|=\sup _{i, j \geq 0}|a(i, j) \| \beta|^{-\left(\left(i_{1}+\cdots+i_{m}\right) / d+j_{1}+\cdots+j_{n}\right)} \tag{1.3}
\end{equation*}
$$

This sup exists by (1.2).
Define an operator $\psi$ by

$$
\begin{equation*}
\psi(\eta)=\sum_{i, j \geq 0} a(p i, p j) x^{i / d} y^{j} \tag{1.4}
\end{equation*}
$$

where $\eta$ is as in (1.1). Note that $\psi$ is a linear map of $L(b ; d)$ into $L(p b ; d)$.

Let $\delta=\left(\delta_{1}, \ldots, \delta_{m}\right)$ be an ordered $m$-tuple of integers with $0 \leq$ $\delta_{1}, \ldots, \delta_{m} \leq d-1$, and let $L(b ; d, \delta)$ be the set of all $\eta \in L(b ; d), \eta$ as in (1.1), satisfying $a(i, j)=0$ unless

$$
i_{1} \equiv \delta_{1}(\bmod d), \ldots, i_{m} \equiv \delta_{m}(\bmod d)
$$

Then $L(b ; d)$ decomposes as a direct sum of $d^{m}$ subspaces

$$
\begin{equation*}
L(b ; d)=\bigoplus_{\delta} L(b ; d, \delta) \tag{1.5}
\end{equation*}
$$

If we put for $k=1, \ldots, m$,

$$
\delta_{k}^{\prime}=\text { least non-negative residue of } p \delta_{k} \text { modulo } d
$$

then $\psi$ maps $L\left(b ; d, \delta^{\prime}\right)$ into $L(p b ; d, \delta)$.
For $f$ a positive integer, $q=p^{f}$, define $\psi_{q}=(\psi)^{f}$. Since $(d, p)=1$, there exists $f$ such that $d \mid\left(p^{f}-1\right)$, in which case $\psi_{q}$ maps $L(b ; d, \delta)$ into $L(q b ; d, \delta)$. For $F=\Sigma_{k, l \geq 0} A(k, l) x^{k} y^{l} \in L(b ; d, 0)$, multiplication by $F$ is stable on each $L(b ; d, \delta)$. Note that if $\beta^{\prime} \in K$ with ord $\beta^{\prime}=b^{\prime}>b$, then $L\left(b^{\prime} ; d\right)$ is a subspace of $L(b ; d)$, and the canonical injection $i$ : $L\left(b^{\prime} ; d\right) \rightarrow L(b ; d)$ is completely completely continuous ([6, §9]). Now suppose $b>0$ and let $\alpha_{F}: L(q b ; d, \delta) \rightarrow L(q b ; d, \delta)$ be the composition

$$
L(q b ; d, \delta) \xrightarrow{i} L(b ; d, \delta) \xrightarrow{F} L(b ; d, \delta) \xrightarrow{\psi_{q}} L(q b ; d, \delta) .
$$

Then $\alpha_{F}$ is completely continuous $([6, \S 3])$. By $[6, \S 5]$, the trace $\operatorname{tr} \alpha_{F}$ and Fredholm determinant $\operatorname{det}\left(I-t \boldsymbol{\alpha}_{F}\right)$ are well defined, and

$$
\begin{equation*}
\operatorname{det}\left(I-t \alpha_{F}\right)=\exp \left(-\sum_{r=1}^{\infty} \operatorname{tr}\left(\alpha_{F}\right)^{r} t^{r} / r\right) \tag{1.6}
\end{equation*}
$$

is a $p$-adic entire function.
Theorem 1.

$$
\begin{aligned}
& (q-1)^{m+n} \operatorname{tr}\left(\alpha_{F} \mid L(q b ; d, \delta)\right) \\
& \quad=\sum_{\substack{x^{q-1}=1 \\
y^{q-1}=1}} x_{1}^{-(q-1) \delta_{1} / d} \cdots x_{m}^{-(q-1) \delta_{m} / d} F\left(x_{1}, \ldots, x_{m} ; y_{1}, \ldots, y_{n}\right)
\end{aligned}
$$

Proof. By [6, Prop. 7(a) and §9], the trace of $\alpha_{F}$ on $L(q b ; d, \delta)$ may be computed by summing the coefficient of $x^{i / d} y^{j}$ in $\alpha_{F}\left(x^{i / d} y^{j}\right)$ over all $(i, j) \geq 0$ with $i \equiv \delta(\bmod d):$

$$
\begin{aligned}
\alpha_{F}\left(x^{i / d} y^{j}\right) & =\psi_{q}\left(\sum_{k, l \geq 0} A(k, l) x^{k+(i / d)} y^{l+j}\right) \\
& =\sum_{k, l \geq 0} A(q k+(q-1)(i / d), q l+(q-1) j) x^{k+(i / d)} y^{l+j}
\end{aligned}
$$

The coefficient of $x^{i / d} y^{j}$ in this expression is $A((q-1) i / d,(q-1) j)$, hence

$$
\begin{equation*}
\operatorname{tr} \alpha_{F}=\sum_{\substack{i, j \geq 0 \\ i \equiv \delta(\bmod d)}} A((q-1) i / d,(q-1) j) . \tag{1.7}
\end{equation*}
$$

On the other hand,

$$
\sum_{\substack{x^{q-1}=1 \\ y^{q-1}=1}} x^{-(q-1) \delta / d} F(x, y)=\sum_{\substack{k, l \geq 0 \\ x^{q-1}=1 \\ y^{q-1}=1}} A(k, l) x^{k-(q-1)(\delta / d)} y^{l},
$$

and

$$
\sum_{\substack{x^{q}=1=1 \\ y^{q-1}=1}} x^{k-(q-1)(\delta / d)} y^{l}= \begin{cases}(q-1)^{m+n} & \text { if there exist } i, j \geq 0 \text { such that } \\ & k-(q-1)(\delta / d)=(q-1) i, \\ & l=(q-1) j, \\ 0 & \text { otherwise. }\end{cases}
$$

Hence

$$
\begin{aligned}
& \sum_{\substack{x^{q-1}=1 \\
y^{q-1}=1}} x^{-(q-1) \delta / d} F(x, y) \\
& \quad=(q-1)^{m+n} \sum_{i, j \geq 0} A((q-1) i+(q-1)(\delta / d),(q-1) j) \\
& \quad=(q-1)^{m+n} \sum_{\substack{i, j \geq 0 \\
i \equiv \delta(\bmod d)}} A((q-1) i / d,(q-1) j) .
\end{aligned}
$$

The theorem now follows from eq. (1.7).

## Corollary.

$$
\begin{aligned}
\left(q^{r}-1\right)^{m+n} & \operatorname{tr}\left(\alpha_{F}^{r} \mid L(q b ; d, \delta)\right) \\
& =\sum_{\substack{x^{q^{\prime}-1}=1 \\
y^{q^{r}-1}=1}}\left(\prod_{i=1}^{m} x_{i}^{-\left(q^{r}-1\right) \delta_{i} / d}\right) F(x ; y) F\left(x^{q} ; y^{q}\right) \cdots F\left(x^{q^{r-1}} ; y^{q^{r-1}}\right) .
\end{aligned}
$$

2. Application. Fix $\bar{\lambda} \in \mathbf{F}_{q}^{x}$, where $d \mid(q-1)$ and $q=p^{f}$, and consider the exponential sum

$$
S(\bar{\lambda}, d)=\sum_{\bar{x} \in \mathbf{F}_{q}} \exp \left(\frac{2 \pi i}{p} \operatorname{Tr}_{\mathbf{F}_{q} / \mathbf{F}_{p}}\left(\bar{\lambda} \bar{x}^{d}\right)\right)
$$

Let $G$ be the group of $d$ th roots of unity in $\mathbf{F}_{q}$, and let $\hat{G}$ be its character group. Then

$$
\begin{aligned}
S(\bar{\lambda}, d) & =1+\sum_{\bar{x} \in \mathbf{F}_{q}^{x}} \sum_{\chi \in \hat{G}} \chi\left(\bar{x}^{(q-1) / d}\right) \exp \left(\frac{2 \pi i}{p} \operatorname{Tr}_{\mathbf{F}_{q} / \mathbf{F}_{p}}(\bar{\lambda} \bar{x})\right) \\
& =1+\sum_{\chi \in \hat{G}} \chi\left(\bar{\lambda}^{-(q-1) / d}\right) \sum_{\bar{x} \in \mathbf{F}_{q}^{x}} \chi\left(\bar{x}^{(q-1) / d}\right) \exp \left(\frac{2 \pi i}{p} \operatorname{Tr}_{\mathbf{F}_{q} / \mathbf{F}_{p}}(\bar{x})\right)
\end{aligned}
$$

Put

$$
g(\chi)=\sum_{\bar{x} \in \mathbf{F}_{q}^{x}} \chi\left(\bar{x}^{(q-1) / d}\right) \exp \left(\frac{2 \pi i}{p} \operatorname{Tr}_{\mathbf{F}_{q} / \mathbf{F}_{p}}(\bar{x})\right)
$$

By [2, eq. (4.4)], the Gauss sum $g(\chi)$, considered $p$-adically, factors in a natural way into a product of $f$ factors. The Gross-Koblitz formula describes these factors in terms of the $p$-adic gamma function. We give a proof of the Gross-Koblitz formula for the factorization of $\chi\left(\bar{\lambda}^{-(q-1) / d}\right) \underline{g}(\chi)$, in which we also describe how each of the $f$ factors depends on $\bar{\lambda}$.

To apply the trace formula to exponential sums, we need $p$-adic analytic lifting of the additive character. Consider the function of two variables on $\mathbf{C}_{p}$ (where now $\pi \in \mathbf{C}_{p}$ is such that $\pi^{p-1}=-p$ ),

$$
\begin{equation*}
F(\lambda, x)=\exp \pi\left(\lambda x-\lambda^{p} x^{p}\right)=\sum_{r=0}^{\infty} A_{r} \lambda^{r} x^{r} \tag{2.1}
\end{equation*}
$$

By $[3, \S 4]$ one has $F(\lambda, x) \in L\left((p-1) p^{-2}+\operatorname{ord} \lambda ; d, 0\right)$, where $L\left((p-1) p^{-2}+\operatorname{ord} \lambda ; d, 0\right)$ is a space as in $\S 1$ with $m=1, n=0$. Furthermore, $F(1,1)$ is a primitive $p$ th root of unity, and if $\lambda^{p^{r}}=\lambda, x^{p^{r}}=$ $x, \lambda, x \neq 0$, then

$$
\begin{equation*}
\prod_{i=0}^{r-1} F\left(\lambda^{p^{i}}, x^{p^{i}}\right)=F(1,1)^{\mathrm{Tr}_{r}(\bar{\lambda} \bar{x})} \tag{2.2}
\end{equation*}
$$

where $\bar{\lambda}, \bar{x} \in \mathbf{F}_{p^{r}}$ are the reductions of $\lambda, x \bmod p$, and

$$
\mathrm{Tr}_{r}: \mathbf{F}_{p^{r}} \rightarrow \mathbf{F}_{p}
$$

is the trace map. Put

$$
G(\lambda, x)=\prod_{i=0}^{f-1} F\left(\lambda^{p^{i}}, x^{p^{i}}\right)=\exp \pi\left(\lambda x-\lambda^{q} x^{q}\right)
$$

For $0 \leq j<d$, define

$$
-g_{q}((q-1) j / d)=\sum_{x^{q-1}=1} x^{-(q-1) j / d} G(1, x)
$$

By (2.2) this is an imbedding of a Gauss sum $g(\chi)$ into $\mathbf{C}_{p}$. By (2.2) and a simple argument, if $\lambda^{q-1}=1$, then

$$
-\lambda^{(q-1) j / d} g_{q}((q-1) j / d)=\sum_{x^{q-1}=1} x^{-(q-1) j / d} G(\lambda, x),
$$

which is an imbedding of a $\chi\left(\bar{\lambda}^{\left(q^{-1) / d}\right)} \mathrm{g}(\chi)\right.$ into $\mathbf{C}_{p}$.
We assume from now on that ord $\lambda>-(p-1) / p^{2}$. For notational convenience, we abbreviate $L((p-1) / p+$ ord $\lambda ; d)($ resp: $L((p-1) / p$ $+\operatorname{ord} \lambda ; d, j)$ ) by $L(\lambda)(\operatorname{resp}: L(\lambda ; j))$. Let $\alpha_{\lambda}: L\left(\lambda ; j^{\prime}\right) \rightarrow L\left(\lambda^{p} ; j\right)$ denote the composition

$$
L\left(\lambda ; j^{\prime}\right) \xrightarrow{F(\lambda, x)} L\left(\frac{p-1}{p^{2}}+\operatorname{ord} \lambda ; d, j^{\prime}\right) \xrightarrow{\psi} L\left(\lambda^{p}, j\right) .
$$

Suppose $\lambda^{q-1}=1$. Since $d \mid(q-1)$, the operator $\beta_{\lambda}$ defined by

$$
\begin{equation*}
\beta_{\lambda}=\alpha_{\lambda^{q / p}} \circ \cdots \circ \alpha_{\lambda p} \circ \alpha_{\lambda} \quad\left(=\psi_{q} \circ G(\lambda, x)\right) \tag{2.3}
\end{equation*}
$$

is stable on $L(\lambda ; j)$ and, by Theorem 1 ,

$$
\begin{align*}
\operatorname{tr}\left(\beta_{\lambda} \mid L(\lambda ; j)\right) & =(q-1)^{-1} \sum_{x^{q-1}=1} x^{-(q-1) j / d} G(\lambda, x)  \tag{2.4}\\
& =-(q-1)^{-1} \lambda^{(q-1) j / d} g_{q}((q-1) j / d) .
\end{align*}
$$

The factorization of $\lambda^{(q-1) j / d} g_{q}((q-1) j / d)$ is derived from (2.3) by studying the differential operator that commutes with $\alpha_{\lambda}$. Formally one has

$$
\begin{equation*}
\alpha_{\lambda}=\exp (-\pi \lambda x) \circ \psi \circ \exp (\pi \lambda x) . \tag{2.5}
\end{equation*}
$$

This factorization is a priori valid only for $|\lambda x|<1$ (where $\exp (\pi \lambda x)$ converges), but by analytic continuation it describes the action of $\alpha_{\lambda}$ on elements of $L(\lambda)$. From (2.5) it is easy to check that

$$
\begin{equation*}
\alpha_{\lambda} \circ D_{\lambda}=p D_{\lambda^{p}} \circ \alpha_{\lambda}, \tag{2.6}
\end{equation*}
$$

where

$$
\begin{equation*}
D_{\lambda}=\exp (-\pi \lambda x) \circ x \frac{d}{d x} \circ \exp (\pi \lambda x)=x \frac{d}{d x}+\pi \lambda x \tag{2.7}
\end{equation*}
$$

is an endomorphism of $L(\lambda)$. Put

$$
W(\lambda)=L(\lambda) / D_{\lambda} L(\lambda)
$$

Then (2.6) implies that $\alpha_{\lambda}$ induces a map

$$
\bar{\alpha}_{\lambda}: \mathscr{W}(\lambda) \rightarrow \mathscr{W}\left(\lambda^{p}\right) .
$$

The operator $D_{\lambda}$ respects the decomposition $L(\lambda)=\bigoplus_{j=0}^{d-1} L(\lambda ; j)$, hence

$$
D_{\lambda} L(\lambda)=\bigoplus_{j=0}^{d-1} D_{\lambda} L(\lambda ; j)
$$

Thus if we put $\mathscr{U}(\lambda ; j)=L(\lambda ; j) / D_{\lambda} L(\lambda ; j)$, then

$$
\mho V(\lambda)=\bigoplus_{j=0}^{d-1} \mho(\lambda ; j)
$$

and $\bar{\alpha}_{\lambda}$ maps $\mathscr{W}\left(\lambda ; j^{\prime}\right)$ into $\mathscr{W}\left(\lambda^{p} ; j\right)$.
Suppose $\lambda^{q-1}=1$. Since $d \mid(q-1)$, the operator $\bar{\beta}_{\lambda}=$ $\bar{\alpha}_{\lambda^{q / p}} \circ \cdots \circ \bar{\alpha}_{\lambda^{p}} \circ \bar{\alpha}_{\lambda}$ is an endomorphism of $\mathscr{W}(\lambda ; j)$. It is easily checked from the definition that $D_{\lambda}$ is injective on $L(\lambda)$, hence for each $j$ there is, by (2.6), a commutative diagram with exact rows:

$$
\left.\begin{array}{cccccccc}
0 & \rightarrow & L(\lambda ; j) & \rightarrow & L(\lambda ; j) & \rightarrow & \mho \circlearrowleft(\lambda ; j) & \rightarrow
\end{array}\right) 0
$$

It follows from [6, Prop. 9] that

$$
\begin{align*}
& \operatorname{det}\left(I-t \bar{\beta}_{\lambda} \mid \circlearrowleft(\lambda ; j)\right)  \tag{2.8}\\
& \quad=\operatorname{det}\left(I-t \beta_{\lambda} \mid L(\lambda ; j)\right) / \operatorname{det}\left(I-q t \beta_{\lambda} \mid L(\lambda ; j)\right)
\end{align*}
$$

Lemma 1. $\operatorname{tr} \bar{\beta}_{\lambda}=\lambda^{(q-1) j / d} g_{q}((q-1) j / d)$.
Proof. Take the logarithm of both sides of (2.8) and use (1.6) and (2.4).

Put

$$
g_{q^{r}}\left(\left(q^{r}-1\right) j / d\right)=\sum_{x^{q^{r-1}}=1} x^{-\left(q^{r}-1\right) j / d} G(1, x) G\left(1, x^{q}\right) \cdots G\left(1, x^{q^{r-1}}\right)
$$

A similar argument, using the corollary to Theorem 1 to evaluate $\operatorname{tr} \beta_{\lambda}^{r}$, shows that

$$
\begin{equation*}
\operatorname{tr}\left(\bar{\beta}_{\lambda}\right)^{r}=\lambda^{\left(q^{r}-1\right) J / d} g_{q^{r}}\left(\left(q^{r}-1\right) j / d\right) \tag{2.9}
\end{equation*}
$$

Lemma 2. $\operatorname{dim} \mathcal{W}(\lambda ; j)=1$.
Proof. Let $\eta=\sum_{n=0}^{\infty} a_{j+n d} x^{(j+n d) / d} \in L(\lambda ; j)$. An inductive argument using the relation

$$
x^{(J+n d) / d}=-\left(\frac{j}{d}+n-1\right) x^{(j+(n-1) d) / d}+\frac{1}{\pi \lambda} D_{\lambda}\left(x^{(J+(n-1) d) / d}\right)
$$

shows that

$$
x^{(j+n d) / d}=\frac{(-1)^{n}(j / d)_{n}}{(\pi \lambda)^{n}} x^{j / d}+D_{\lambda}\left(\xi_{n}\right)
$$

where

$$
\xi_{n}=\sum_{i=0}^{n-1} \frac{(-1)^{i}(j / d+n-i)_{i}}{(\pi \lambda)^{i+1}} x^{j / d+n-i-1}
$$

Hence

$$
\begin{equation*}
\eta=\left(\sum_{n=0}^{\infty} a_{j+n d} \frac{(-1)^{n}(j / d)_{n}}{(\pi \lambda)^{n}}\right) x^{j / d}+D_{\lambda}\left(\sum_{n=0}^{\infty} a_{j+n d} \xi_{n}\right) \tag{2.10}
\end{equation*}
$$

A straightforward calculation using the growth condition satisfied by the $a_{J+n d}$ (inequality (1.2)) shows that the first series on the right-hand side of (2.10) converges and that the second series lies in $L(\lambda ; j)$. Hence $\operatorname{dim} \mathscr{W}(\lambda ; j) \leq 1$.

Suppose $j \neq 0$. The equation

$$
D_{\lambda}\left(\sum_{n=0}^{\infty} b_{j+n d} x^{(j+n d) / d}\right)=x^{j / d}
$$

gives a recursion relation which determines the $b_{j+n d}$ :

$$
b_{j+n d}=\frac{(-1)^{n} \pi^{n} \lambda^{n}}{(j / d+1)_{n}}
$$

Thus ord $b_{j+n d} \leq n$ ord $\lambda+s_{n} /(p-1)$, where $s_{n}$ is the sum of the digits in the $p$-adic expansion of $n$. This estimate shows

$$
\sum_{n=0}^{\infty} b_{j+n d} x^{(j+n d) / d} \notin L(\lambda ; j)
$$

The image of $D_{\lambda}$ does not contain any series with a non-zero constant term, so the result is valid when $j=0$ also.

Remark. Lemmas 1 and 2 imply

$$
\operatorname{tr}\left(\bar{\beta}_{\lambda}\right)^{r}=\left(\lambda^{(q-1) j / d} g_{q}((q-1) j / d)\right)^{r}
$$

Comparing this with (2.9) and using the equality $\lambda^{(q-1) j r / d}=\lambda^{\left(q^{r}-1\right) j / d}$ (which follows from $q \equiv 1(\bmod d)$ and $\left.\lambda^{q-1}=1\right)$, we get

$$
g_{q^{r}}\left(\left(q^{r}-1\right) j / d\right)=g_{q}((q-1) j / d)^{r}
$$

a classical formula of Hasse and Davenport.
Fix $j, 0<j<d$, and let $j_{0}, j_{1}, \ldots, j_{f-1}$ be the minimal positive residues $\bmod d$ of $j, p j, \ldots, p^{f-1} j$. Put $\nu^{\prime}=f-1-\nu$ and define $\gamma_{\nu}, \nu=0,1, \ldots$, $f-1$, by

$$
\begin{equation*}
\left.\alpha_{\lambda}{p^{\nu^{\prime}}}^{j^{j_{\nu+1} / d}}\right) \equiv \gamma_{\nu} x^{j_{\nu} / d} \quad\left(\bmod D_{\lambda^{p^{\prime}+1}} L\left(\lambda^{p^{\nu^{\prime}+1}} ; j_{\nu}\right)\right) \tag{2.11}
\end{equation*}
$$

By Lemma 2, $\gamma_{\nu}$ is well defined. By the definition of $\bar{\beta}_{\lambda}$, Lemmas 1 and 2 imply

$$
\begin{equation*}
\lambda^{(q-1) j / d} g_{q}((q-1) j / d)=\prod_{\nu=0}^{f-1} \gamma_{\nu} \tag{2.12}
\end{equation*}
$$

The Gross-Koblitz formula expresses the $\gamma_{\nu}$ in terms of values of Morita's $p$-adic gamma function $\Gamma_{p}$.

Let $i$ be a positive integer, $i \neq 0(\bmod d)$. Define a function $G$ on fractions $i / d$ by

$$
\begin{equation*}
\alpha_{\lambda}\left(x^{p i / d}\right) \equiv G(i / d) x^{i / d} \quad\left(\bmod D_{\lambda^{p}} L\left(\lambda^{p} ; i\right)\right) \tag{2.13}
\end{equation*}
$$

The function $G$ is well defined: The same argument as in the proof of Lemma 2 shows that $x^{i / d}$ (resp: $x^{p^{i / d}}$ ) is a basis for $W\left(\lambda^{p} ; i\right)$ (resp: $\mathscr{O}(\lambda ; p i))$. In fact, we have for $n$ a non-negative integer,

$$
\begin{equation*}
x^{(i / d)+n} \equiv \frac{(-1)^{n}(i / d)_{n}}{\left(\pi \lambda^{p}\right)^{n}} x^{i / d} \quad\left(\bmod D_{\lambda^{p}} L\left(\lambda^{p} ; i\right)\right) \tag{2.14}
\end{equation*}
$$

This leads to a formula for $G(i / d)$ :

$$
\begin{aligned}
\alpha_{\lambda}\left(x^{p i / d}\right) & =\psi\left(\sum_{n=0}^{\infty} A_{n} \lambda^{n} x^{(p i / d)+n}\right)=\sum_{n=0}^{\infty} A_{p n} \lambda^{p n} x^{(i / d)+n} \\
& \equiv\left(\sum_{n=0}^{\infty}(-1)^{n} A_{p n}(i / d)_{n} / \pi^{n}\right) x^{i / d} \quad\left(\bmod D_{\lambda^{p}} L\left(\lambda^{p} ; i\right)\right)
\end{aligned}
$$

by (2.14). Hence

$$
\begin{equation*}
G(i / d)=\sum_{n=0}^{\infty} \frac{(-1)^{n} A_{p n}(i / d)_{n}}{\pi^{n}} \tag{2.15}
\end{equation*}
$$

Note that although both sides of (2.13) depend on $\lambda, G$ itself is independent of $\lambda$.

Extend $G$ by defining

$$
\begin{equation*}
G(z)=\sum_{n=0}^{\infty}(-1)^{n} A_{p n}(z)_{n} / \pi^{n} \tag{2.16}
\end{equation*}
$$

Since ord $A_{p n} \geq n(p-1) / p$, equation (2.16) defines an analytic function on the set

$$
\operatorname{ord} z>-\left(\frac{p-1}{p}-\frac{1}{p-1}\right)
$$

Lemma 3. Assume $p \geq 3$. For $z \in \mathbf{Z}_{p}, G(z)=\Gamma_{p}(p z)$.
Proof. By definition, $\Gamma_{p}$ is the unique continuous function on $\mathbf{Z}_{p}$ satisfying

$$
\Gamma_{p}(r)=(-1)^{r} \prod_{\substack{1 \leq i \leq r r-1 \\ p \nmid i}} i
$$

for positive integers $r$. It satisfies the functional equation

$$
\Gamma_{p}(z+1)=\Gamma_{p}(z) \cdot \begin{cases}-1 & \text { if } z \in p \mathbf{Z}_{p}  \tag{2.17}\\ -z & \text { if } z \notin p \mathbf{Z}_{p}\end{cases}
$$

Hence for positive integers $r$,

$$
\Gamma_{p}(-r)=(-1)^{r} \prod_{-r \leq i<0}^{p \nmid i} \text { i }
$$

In particular,

$$
\begin{equation*}
\Gamma_{p}(-p r)=(-1)^{r} p^{r} r!/(p r)! \tag{2.18}
\end{equation*}
$$

By (2.1),

$$
A_{p n}=(-1)^{n} \pi^{n} \sum_{i=0}^{n} p^{i} /(p i)!(n-i)!
$$

Observe also that

$$
(z)_{n}=(-1)^{n} n!\binom{-z}{n}
$$

Hence by (2.16),

$$
G(-r)=\sum_{n=0}^{r} \sum_{i=0}^{n}(-1)^{n} p^{i} i!\binom{n}{i}\binom{r}{n} /(p i)!.
$$

By (2.18) and the fact that

$$
\begin{gathered}
\binom{n}{i}\binom{r}{n}=\binom{r}{i}\binom{r-i}{n-i} \\
G(-r)=\sum_{n=0}^{r} \sum_{i=0}^{n}(-1)^{n+i} \Gamma_{p}(-p i)\binom{r}{i}\binom{r-i}{n-i}
\end{gathered}
$$

Interchanging the order of summation:

$$
G(-r)=\sum_{i=0}^{r}(-1)^{i} \Gamma_{p}(-p i)\binom{r}{i} \sum_{n=i}^{r}(-1)^{n}\binom{r-i}{n-i}=\Gamma_{p}(-p r)
$$

since the inner sum collapses. We are now done by the continuity of $G$ and $\Gamma_{p}$.

Let $j, j_{\nu}(\nu=0,1, \ldots, f-1)$, and $\nu^{\prime}$ be as above. Put $k_{\nu}=$ $\left(p j_{\nu}-j_{\nu+1}\right) / d$. Then $0 \leq k_{\nu} \leq p-1$; in fact, these are the digits in the $p$-adic expansion of $(q-1) j / d$ :

$$
\begin{equation*}
(q-1) j / d=k_{f-1}+k_{f-2} p+\cdots+k_{1} p^{f-2}+k_{0} p^{f-1} \tag{2.19}
\end{equation*}
$$

By (2.14),
(2.20) $\quad x^{p_{j} / d} \equiv \frac{(-1)^{k_{\nu}}\left(j_{\nu+1} / d\right)_{k_{\nu}}}{\left(\pi \lambda^{p^{\nu^{\prime}}}\right)^{k_{\nu}}} x^{j_{\nu+1} / d} \quad\left(\bmod D_{\lambda^{p^{\nu}}} L\left(\lambda^{p^{\nu^{\prime}}} ; j_{\nu+1}\right)\right)$.

Using (2.6) and (2.11),

$$
\begin{align*}
& \alpha_{\lambda^{p^{\prime}}}\left(x^{p j_{\nu} / d}\right)  \tag{2.21}\\
& \quad \equiv \frac{(-1)^{k_{\nu}}\left(j_{\nu+1} / d\right)_{k_{\nu}} \gamma_{\nu}}{\left(\pi \lambda^{p^{\nu^{\prime}}}\right)^{k_{\nu}}} x^{j_{\nu} / d} \quad\left(\bmod D_{\lambda^{p^{p^{\prime}+1}}} L\left(\lambda^{p^{\nu^{\prime}+1}} ; j_{\nu}\right)\right)
\end{align*}
$$

By (2.13) and Lemma 3,

$$
\gamma_{\nu}=(-1)^{k_{\nu}}\left(\pi \lambda^{p^{\nu^{\prime}}}\right)^{k_{\nu}} \Gamma_{p}\left(p j_{\nu} / d\right) /\left(j_{\nu+1} / d\right)_{k_{\nu}}
$$

Repeated use of the functional equation (2.17) gives

$$
\gamma_{\nu}=\left(\pi \lambda^{p^{\prime}}\right)^{k_{\nu}} \Gamma_{p}\left(j_{\nu+1} / d\right)
$$

The Gross-Koblitz formula then follows from (2.12) (the powers of $\lambda$ cancel by (2.19)):

$$
\begin{equation*}
g_{q}((q-1) j / d)=\prod_{\nu=0}^{f-1} \pi^{k_{\nu}} \Gamma_{p}\left(j_{\nu} / d\right) \tag{2.22}
\end{equation*}
$$

## References

[1] E. Bombieri, On exponential sums in finite fields, Amer. J. Math., 88 (1966), 71-105.
[2] M. Boyarsky, p-adic Gamma functions and Dwork cohomology, Trans. Amer. Math. Soc., 257 (1980), 359-363.
[3] B. Dwork, On the Zeta function of a hypersurface, Publ. Math. I.H.E.S., 12 (1962), 5-68.
[4] ___ p-adic cycles, Publ. Math. I.H.E.S., 37 (1969), 327-415.
[5] B. Gross and N. Koblitz, Gauss sums and the p-adic 「-function, Ann. of Math., 109 (1979), 569-581.
[6] J.-P. Serre, Endomorphismes Complement Continues des Espaces de Banach p-adiques, Publ. Math. I.H.E.S., 12 (1962), 69-85.

Received September 13, 1982, Partially supported by NSF grant MCS 79-03315.
University of Washington
Seattle, WA 98195

